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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of twenty (20) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, chl ¼20½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Explain ‘Sample’ and ‘Population’. Write a detailed 

note on the ‘Methods of Sampling’ by giving suitable 

example. 

^U;kn’kZ* rFkk ^lef”V* dks Li”V dhft,A mi;qDr mnkgj.k 

nsrs gq, ^izfrp;u fof/k;ksa* ij ,d foLr`r fVIi.kh fyf[k,A 

2. Describe the ‘Fundamental Research’ and the ‘Applied 

Reserch’ in Education. 

f’k{kk esa ^ekSfyd vuqla/kku* rFkk ^O;kogkfjd vuqla/kku* dk 

o.kZu dhft,A 

3. (a) Compute the value of skewness for the following 

values : 

M = 60.70 

Mdn = 60.00 

S.D. = 7.00 

fuEufyf[kr ekuksa ds fy, fo”kerk ds eku dh x.kuk 

dhft, % 

M = 60.70 

Mdn = 60.00 

SD = 7.00 

(b) Compute the value of t-ratio for the following 

values : 

1N 16                      2N 25   

1M 22.8284              2M 20.0000  

1SD 4.0                   2SD 5.0   

fuEufyf[kr ekuksa ds fy, Vh&vuqikr ds eku dh x.kuk 

dhft, % 

1N 16                        2N 25   

1M 22.8284               2M 20.0000  

1SD 4.0                   2SD 5.0 
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4. Compute the values of Mean, Median, Standard 

Deviation and Tenth percentile for the following 

distribution : 

S. No. Class Interval Frequency 

1 

2 

3 

4 

5 

6 

7 

8 

9 

25—27 

22—24 

19—21 

16—18 

13—15 

10—12 

7—9 

4—6 

1—3 

1 

2 

3 

4 

5 

4 

3 

2 

1 

fuEufyf[kr forj.k gsrq e/;eku] e/;kad] ekud fopyu 

rFkk nlosa izfr’krkad ds ekuksa dh x.kuk dhft, % 

Ø- l- oxZ vUrjky ckjEckjrk 

1 

2 

3 

4 

5 

6 
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8 

9 

25—27 

22—24 

19—21 

16—18 

13—15 

10—12 

7—9 

4—6 

1—3 

1 
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3 
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4 

3 

2 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Write a note on ‘Education as a Discipline’ 

^f’k{kk ,d ‘kkL= ds :i esa* ij ,d fVIi.kh fyf[k,A 

2. Write five purposes of Educational Reserch. 

‘kSf{kd vuqla/kku ds ik¡p mís’;ksa dks fyf[k,A 

3. Write a note on the significance of Research and 

Scientific Inquiry. 

vuqla/kku rFkk oSKkfud vUos”k.k ds egRo ij ,d fVIi.kh 

fyf[k,A 

4. Write five research priorities in the field of Education. 

f’k{kk ds {ks= esa vuqla/kku dh ik¡p izkFkfedrkvksa dks fyf[k,A 

5. Compute the value of reliability coefficient of the 

whole test when the reliability coefficient of the half-

test in 0.80. 

iw.kZ ijh{k.k ds fo’oluh;rk xq.kkad dh x.kuk dhft, tc 

v)Z&ijh{k.k ds fo’oluh;rk xq.kkad dk eku 0-80 gSA  
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6. Write the characteristics of a normal probability curve. 

,d lkekU; lEHkkO;rk oØ dh fo’ks”krkvksa dks fyf[k,A 

7. Compute the value of the Index of Reliability for the 

value of the reliability coefficient 0.81. 

fo’oluh;rk xq.kkad 0-81 ds fy, fo’oluh;rk baMsDl ds 

eku dh x.kuk dhft,A 

8. Compute the value of standard error of standard 

deviation for the value of standard deviation  = 6.0 and 

N = 144. 

ekud fopyu  6-0 rFkk N 144  ds fy, ekud 

fopyu dh ekud =qfV ds eku dh x.kuk dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Which one of the following is not a types of research ? 

(a) Action Research 

(b) Applied Research 

(c) Parametric Research 

(d) Qualitative Research 
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fuEufyf[kr esa ls dkSu&lk ,d vuqla/kku dk izdkj ugha gS \ 

¼v½ fØ;kRed vuqla/kku 

¼c½ O;kogkfjd vuqla/kku 

¼l½ izkpfyd vuqla/kku 

¼n½ xq.kkRed vuqla/kku 

2. Which one of the following is not a method of 

educational reseach ? 

(a) Descriptive research 

(b) Experimental research 

(c) Pragmatic research 

(d) Historical research 

fuEufyf[kr esa ls dkSu&lh ,d ‘kSf{kd vuqla/kku dh fof/k 

ugha gS \ 

¼v½ fooj.kkRed vuqla/kku 

¼c½ iz;ksxkRed vuqla/kku 

¼l½ ;FkkFkZoknh vuqla/kku 

¼n½ ,sfrgkfld vuqla/kku 

3. Which one of the following is not a scale of 

measurement in educational research ? 

(a) Additive (b) Interval 

(c) Nominal (d) Ratio 

fuEufyf[kr esa ls dkSu&lk ,d ‘kSf{kd vuqla/kku esa ekiu dk 

iSekuk ugha gS \ 

¼v½ la;ksth ¼c½ vUrfjr 

¼l½ ukfEkr ¼n½ vkuqikfrd 
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4. It is not necessary that all the units in the sample are 

also there in the population. (True/False) 

;g vko’;d ugha gS fd izfrn’kZ dh lHkh bdkb;k¡ lef”V esa 

Hkh gksaA   ¼lR;@vlR;½ 

5. In a Normal probability curve the percentage of cases 

between 1sigma and + 1 sigma is : 

(a) 34.13% (b) 68.26% 

(c) 30.33% (d) None of these 

,d lkekU; lEHkkO;rk oØ esa 1 flXek rFkk 1 flXek ds 

e/; vk¡dM+ksa dk izfr’kr gksrk gS % 

¼v½ 34-13% ¼c½ 68-26% 

¼l½ 30-33% ¼n½ buesa ls dksbZ ugha 

6. The value of standard error of median for standard 

deviation = 2 and N = 100 is : 

(a) 2.506 (b) 1.506 

(c) 0.156 (d) None of these 

ekud fopyu = 2 rFkk N 100  ds fy, e/;kad dh 

ekud =qfV dk eku gS % 

¼v½ 2-506 ¼c½ 1-506 

¼l½ 0-156 ¼n½ buesa ls dksbZ ugha 

7. The value of Q for 1Q 25  and 3Q 75  is : 

(a) 50 (b) 100 

(c) 25 (d) None of these 
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1Q 25 rFkk 3Q 75 ds fy, Q  dk eku gS % 

¼v½ 50 ¼c½ 100 

¼l½ 25 ¼n½ buesa ls dksbZ ugha 

8. The value of skewness for 10P 10 , P 50 50.05  and 

P 90 90  is : 

(a) + 0.05 (b) + 0.50 

(c) – 0.05 (d) – 0.50 

10P 10,  50P 50.05  rFkk 90P 90  ds fy, fo”kerk 

dk eku gS % 

¼v½ 0.05  ¼c½ 0.50   

¼l½ 0.05  ¼n½ 0.50  

9. The value of Kurtosis for Q = 24, 10P 10  and 

90P 90  is : 

(a) 0.30 (b) 0.03 

(c) 0.24 (d) 0.90 

10Q 24, P 10  rFkk 90P 90  ds fy, i`Fkq’kh”kZRo dk 

eku gS % 

¼v½ 0-30 ¼c½ 0-03 

¼l½ 0-24 ¼n½ 0-90 

10. Primary objectives are attained before the attainment  

of concomittant objectives. (True/False) 

izkFkfed mís’; lgorhZ mís’;ksa dh izkfIr ls iwoZ izkIr fd, 

tkrs gSaA   ¼lR;@vlR;½ 
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